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TFIOUTILR
B |44 il XEFEH 2016 A | 2015%HE | 2015&F % | 201583 &t
A E#HE [RBEKXFE 300 300 225 825
2|04 EBE EAZEXE 400 20 300 720
3|HIH F#E BEEAXBEXE 100 6 80 150 336
4 K8 FED |fBEXE 200 40 40 280
50118 #kE RIGEREXZFE 40 150 80 270
5|t BHE PR E R K E 40 150 80 270
7|FER XK BEEAXEXE 100 80 40 220
8|18)Il #MthF |FEREFERAE 40 40 80 160
8liEiZ 48 fERE X 40 20 20 80 160
0/lLtE & R E TN 100 20 20 140
N|EH UMY [FEEFREXE 100 0 20 120
12| FRIEF B ([RIGERXFE 20 11 40 40 111
BEH BE BEAEXE 40 2 20 40 102
13|98 tis AR FERKE 20 40 40 102
15| HAX i EIREEREXRY 40 20 40 100
16|%H =& faf K=Z 20 2 40 20 82
17| RZE BE RIGEREKXFE 40 20 20 80
18| P4 B=% RIGEREXFE 6 40 20 66
18| ERH BHE |[BEAKEXE 20 6 20 20 66
20[[f TAN |[BIREREXFE 2 20 40 62
0[5l FTEH |RBEREXZE 20 40 2 62
22| HIE FIE RIGEREXE 20 6 2 20 48
23|14 = AR FRAFE 6 20 20 46
BHE InFm FARAXFERRE 6 20 20 46
25(+H EFxE EEXZE 2 20 20 42
26|/M1 = AR FERAE 20 20 40
27|AH XEB ARAXFRRE 11 20 2 33
28|18 B FF BEREXZE 11 20 31
29[5H% FY RIGKFE 2 20 22
29[ R AR FERAE 2 20 22
NBA =F EEXZE 20 20
32[/vtk BESE ERARBEXRE 2 2 2 6
32(F L #BE BEREXE 6 0 6
R2(HE He BEREXE 6 0 6
/AR ER PN o 1 2 2 5
36[FIED BE+ LM H T KE 2 2 4
(LA UMD |MEEERPXRE 2 2 4
36|11 BE REBEXE 0 2 4
36[TRA thE AR FERAE 0 2 4
6|EER ME NN 2 2 4
B|EE FFE R XERAE 2 2 4
36|IUT EHiE RIGKFE 2 0 2 4




